AR SEEETTIRGRS [19230739]
AGF#FERE st [233080]

2019/08/03 ~ 2019/08/03 VL ELE e
BB OF W R sl
BT EENE s
Eo& = W M
EL i 17 27 3T 4T 5 67 2 8hr
853 PERT 100m il AG)  11.69C-0.4) |4k HEH3) 11.85(-0.0)[Afk BHH(3)  11.90C0.0|E 0 #IG)  11.93¢+1.5) ik H(2) TL9TGLE) AR BEMG) 11.97C04[ICE #fdB)  12.03-0.2)[8kMH FHAERG)  12.06(-0.7)
TR e T B SNk gk EFnH AlfET
SA3H HEER T 200m WD fE3E3) 23.55(-LE)[Ak VEFHR) 23.57(-1.6)| 2 AIE) 24.11CLO[RE RARREB)  24.12CLOIAMR HMEG)  24.20C0.6) [ Q) 24.31(-0.6)[ k27K [E(2) 24.35(-0.6)[ Ak #EH(3) 24.51(-1.0)
N G i — 5 iUk AEFE W S s iRy
8K 3 PR T 400m W HER3) 52.98|fF HEHE(2) 54.10|JIIAFE TH(3) 54.45 A HFH(3) 55.62|{Jtik 1KEL(3) 56.11 (BRIl FinkE(3) 56.61| %% HA(3) 56.88| B[ K HI(3) 57.90
- — 5 — 5 iUk HE Rl KA Y=L R AC il
8K 3 PR T 800m B PEG) 2:04.04 |l M 5(3) 2:07.07| % #1(J3) 2:07. 71| AR HIKEREG) 2:07.89| /% HEK(3) 2:09.47 %5 fL(3) 2:10. 11 - EUKEH(2) 2:10.36|5H Bk (3) 2:10.39
- Ao I JE P Y7 =/L R AC i Y7 =/L R AC KA s FA2
SA3H BT 1500m B RPEG) 4:16.75 (%@ ELBE(3) 4:19.21[Fm EAREAR) 4:20.04[FPAT KA 3) 4:29.73| M K H(3) 4:30.69 [ AT (2) 4:30.88[f E A1) 4:30.92| EJIT FEZB3) 4:34.89
SR EEas B SNIGE S flrp Y=L R AC i
8f38 | PeE—gn T s000m e KH 9:02.37||A IR 9:29.12| Kk #5L 9:37.63| A BF(Q2) 9:40.20| ey SEHE(1) 9:42.28| kAT S A 9:42.97 )11 NLIEQR) 9:44.11|374E 582 9:44.32
N teamF.O.R teamF.O.R U HITFC o FrE s ZHEYAI—X s A T/
830 | hme nomyn  |LPF MFIG) 1764002 %M ER(2)  17.76(H0.2)[4M RFHR)  18.05(0.2)[BLEF BASHE)  18.19(+0.D)[/MK HA(3) 18.36(+0.7)( /57 ME(2)  18.71G2.0)[FI JR4B)  19.0000.7)|fiE #02) 19.12(+0.2)
- il TA)—hY il IR I SE B Shler ASSA—TC
SR L 48.37[ 41 48.47 (@ LT EPA 49.12|AIFE A 49.84 &l h 51.31 (L E B 51.66 | Al{ETB 53.08 [ KA 53.24
ITiE B2E(2) gk Q) TH KEQ) R RHN2) MR 5212) it EE=R2) &l AA2) BN LFHR)
BABH [ theEB ik 4X100mR |38 KA (1) JNBR KL FARAL (L) NI ZBRR(L) Sl kR i £ Bk B Lk Ik
EIRE ZER(1) K (L) D HERE(L) Vi Q) B EK(L) HEH EZE() A () BL HA()
T BHZE(2) R BE2) It E #52) Pl @#k—(2) /NP BH(2) B HEH(2) R RSH2) Il RE(2)
A PA 1:37.99 [ L eh 1:38.95 [ 1E At 1:40.59 | &L 1:41.27 s B 1:41.34 [ A JEPEHA 1:43.55|H A HA 1:44.07 |- [ B op 1:44.65
(2SN E)) A SEHEG) Lk #HfG) = Pr o T2 (6)) R8I F(3) P EH(3) FE ) DHiE Q)
8A3A [ BT ax200mR | JIALR TEE) i)l BKEG) PN N={6)) e BEG) )1 FIFE) B FIKIAG) N EER) JEE WIHO)
o HEG) AgE BESHQ) FE 1%03) ok FHEeE) 4 F340) A FHEEG) W Q) Il TFEK)
s (6)) B #E2) M e H(3) OHR B4 (2) g f830) PR Fir7R(3) AR SRFHE) P LTV AF 1)
£t Q) Im70[f@ i #Hh(3) 1m55|54 23H3) 1m50|FA%E BE2H(3) 1m50[ A 3HAQ2) 1m50 | ek HAEL(L) 1m45 IRE EBE3) 1m45
SA3H R - i B ghléerh gl L e UL Shldert
FLA HFRR3) 1m45
- iUk
. s - =0l FIHEG) 3m10[ZHEJR KHE(3) 2m90
8A3H P T B B NN
A3 P TR T E) 5m96(0.0) |4 AHER)  5mIAG+1.0)|(FE 1K) 5m80(+0.3)| KA £ZE®M)  5mT6G+LO)HE HEQR)  5mE3+L5)|[FHA AEEB)  5mbaG1L4)|HE FEAG)  5maTCO.D|FIE FEHIG) 5m46(0.0)
WEFn M2 Al JE UNELS IR B i
AR KBER)  12m17G2.2)[2A THER(3)  11mS7(+2.3)[WFIE #HA®B) 11m51(+2. D[RR ZAME) 11md7(+2.3)[HRE Hl3) TmI8GLD[EH fRAR)  10m91G2.DJIALR #H(3)  10m86(+3.D) =i FHHER)  10m77(+1.9)
8A3H P =Rk FAS PN e o [T *F3 | *F3 [ AR *F2[IEFnHp Shldrp *E3 [ e *F3 BB
AFE11mO6(+1.1) AFR11m37(+1.6) AF11m32(+1.3) ZARB10m72(+1.9) ZARB10mT74(+1.8)
3R | 9 T faduEG.000ke | T ) 12m06 | FAfid (EFA(2) 11mO0 [HLH f%X(3) 10m23 /K% JEHE(3) B2 L) 9m35|FE% 1F L(3) 9m21 |3 F(3) 8m72 (i1l &K (3) 8m63
S ) —HH AEFn P Rl P F L e F L
SH3H | EE T 500k RIS ERPE(2) 3Im75 [ fHEE(3) 3Im73|/VA KIE(3) 28m96 |fE A ¥i(3) 28md4 | B 0 A2 HE(3) 26m82|A H IKIE(3) 26m28|FkH  Bifi(3) 24m29 [fsn FFEG) 23m29
. ) S PR P i —H P F L Al F L




AR SEEETTIRGRS [19230739]
AGF#FERE st [233080]

2019/08/03 ~ 2019/08/03 DA gt’,ﬂi e
fut B Ow W R B
BTx % H R sl
Eo& = W M
EL i 17 27 3T 4T 5 67 2 8hr
853 LT 100m BIH #(3)  1251GLO)[ARE £22(3)  12.62HL.O)EK EINQ)  12.70+1.0)| =l BRA)  13.13GLO)[HEL Q) 13.28GHL.O)|EH ZELAB)  13.29(+0.3)[FFE HA2)  13.32(+0.3)[#ak FE(©Q)  13.35(+0.2)
FERg Ao S K S A g2 il
8K 3 LT 200m AT Q) 26.21(+0.5) BN EiEG)  25.25(+0.5) ik Q) 26.99(+0.5)|AJ 3£ZE(B)  26.63(+0.5)[F I OMEVQ)  26.70(+0.5) [T M) 27.21(+0.5) [ £5(1) 27.39+0.5)[ Pkt EFHB)  27.64(+0.5)
Bk b Ep S B V4 H R S — s
3R AT 800m T EESAR) 2:29.05 & H 8 -1-(2) 2:30.49[REHF HhE(D) 2:32.67|%1H H&Q) 2:32.7L[gAR (1) 2:32.75[ M0 EHE(3) 2:34.22 74:57 ‘L(z> 2:34.29[3H3F HiFE(2) 2:34.61
Ao iU iUk Rl SN L N i
. P G 4:59.79| % #5303) 5:0L.32( B & (1) 5:17.68[FF LI T L) 5:2L.37(A% K(Q) 5:21.38[#1BH A2 5:22.41 Hjﬁﬂ %hh(z) 5:22.87[FFA E3EJH(D) 5:23.89
) Ao Y7/l R AC fiUmli —p S Rl Rl iRk
8K 3 wesscr oooom | NH HRTQ) TILT6[ I BhEG) TALTT|FN FA2) TATAS[FTN @) 7:19.37 [k E9H(2) 7:35.07[HilE k() [RINEIE 230 74133\ HEB) 7:53.95
) UL UL KA KA Rl Rtk iRl S [ B
HFPA 49.12 A A 51,1411 P 53.23| KA 53.51 (& HH 53.76 | A 54.29|— L H 54.42( 7 AV —FY 54.69
ik EHE(3) g T5(3) AH BAER) Nk THI2) i)l ACHR(L) 7 FRAR) BRI FE(3) A FZR(2)
SABH [ hodks 4X100mR | fEIL H35(2) EX ) i A% (2) TiE EAN(2) Ve H-(2) A ZRAET(3) il ELAA(3) %R A%
1K Q) —J FEEQ) 1HE R3O TR 1R RTh(2) BB K (2) il TEAEEL(2) Firde, HEAE(3) frf wEE0D
Y S 6)) B ELG) Ak E(2) )N 5E2) L A Q) ik @) KB HEA3) S E(2)
Frh 53.59[— & 54.22 |- H B th 54.52 |1 54.62(—L& [ 55.40[ A 5 56.71 |l 57.85 | 1L 58.64
It k() AL Hif#(2) gk HEAE(2) iy (E(2) SRy TLIHRLTQ) [ REQ) A FE2) B HARQ2)
8A3H FHAE 4x100mR | KRN ARy $5(1) EA 3K Bk w5 E)I 93EL) [ FRE(L) RIS FraiE1) AR LS
A E i) FEI B0 Ve R HR(L Tl AR EA (D Tk H23(1) g B A A
‘EIT HAEQR) i RA2) AR R7E(2) Ei AR WH Fn3E2) S AE2) b TETEER) [PiE AN E))
iRk EAn(3) Tmb0[ ek HHER) 1m45i57K Q) 1m45(wiIl e E2) 1m40|fidE HEFE®) 1m40| ¥ H  #E(2) 1md0]r>= rvrvire Im35| A8 HAEQR) 1m30
il f L JUBEH A —H SHIEN —H M ek
=4 EG) 1m30
) 2 - JURH
8A3H ST EE B TE® T30
il
Hiliti SRML(D) 1m30
HEF
sA3H 4T ek ;';ER*C*U” 2m40
FliO 2EEG3)  5m06(+0.9)|fA7k FE(©2)  5mOSHLD|LEE J53%(3)  4m94(+2.3)|IRE Ve (3) 4me9C+2.8)[IIE FBAIGB)  4me9+1.3)|E R #EQ)  4m6T+LD[ATH EEG)  4me5(+2.8)[F E FSIEQ)  4m51(+2.8)
8A3H Lo SRl WA AT TARI *B2| Sl *Fl| A1 S B e WEE *F2|ghlderh *F2
/ARAM83(+1.4) ZARAm60(+1.0) ZA7B4m62(+1.1) ZA784m50(+0.8)
OHgE BFA3)  10m34(+3.2)[ 1 BEZE(3)  9m39(+2.0)| EEF fEZS(2)  9m39G+1.2)[iliAk EHI(2)  8m90+0.M)|FEF FHEAQR)  8m83(+2.3)|/NA #(2) 8m82(+1.8)| =4 #5(3) 8m73(+1.5)| 4 Ei(©2)  8m62(+2.8)
8A3H i Bk UNEL *F3 |y e s *F8| A *F3[F AR *FL[E AR J\JEH L *F2
ZAFE10m28(+0.3) AFR8m34(+1.4) ZA7B8m54(+1.7)
) . 4 o JIHE M E2) 1Im39 [ BER(L) 10m79 (4R ERIR(2) 10m57|RA HVG) 10m47[/MEH EAB) 10mO3[Hi#B EAE(2) 9m25[#H A £(3) Im12[/NE INEE(L) 8m88
SIS | ek ARR TR |y g feden St ey ey Bt (Rt fede
SH3H | e MRE.000k | % TRIER) 26m74 | A EEG) 25m80| % 7 FE(3) 21m79|HH EB) 21m61|HA FE(3) 20m98 R {=1(3) 20m95| ik A4 (3) 20m85 | Tty BB (1) 20m39
) e ke JUR E2An N AR 21N ek

FUB #F1:1IE] B 23 AR R *F2:200] B ASATRE S *F3: 381 B 23 A58 & *+F8:27% H DRkl Z LI




